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[ PN 26 41 4 82
[ih PN 11 14 19 33
PR AT K3k 0 0 0 0
FEHET K B & 0 0 0 0
FEHETRA 7 A 14 22 18 40
FEAET R 94 75 49 124
FEHATEEAT 0 0 0 0
FEHET T8 E 4 6 17 13
TR 11 17 19 36
FEEET E 2] 0 0 0 0
R AR 54 82 85 167
FESHETIER 27 36 43 19
PG SHETH E 0 0 0 0
FERATAE 7 A 5 17 17 14
BT R L 413 66 13 139
FEAETIL<C 4 8 8 16
FEHET AL K0 4R 66 83 101 184
FEHETIL /1 0 0 0 0
FESHET AL 46 49 55 63 118
BT 15 70 97 109 206
R AR 12 17 20 37
FEHETILPIF 38 63 61 124
EHEITOELT 4 3 5 8
TS S 3 3 3 6
FHAT R 24 36 32 68
FRAT/MET A 4 1 5 12
R /MEE 5 8 6 14
FHT AR 40 56 56 112
FEEIT =R H 7 13 13 26
PHSHETIR AR 39 2] 40 67
75 5FHET T i 51 80 75 155
PEHET FE AT 1 1 2 3
AT HTA 0 0 0 0
AT E S 0 0 0 0
BRI ES S 88 103 108 211
FESEETE AL 0 0 0 0
FEHEETH 1L 0 0 0 0
P AT SLER LY 3 5 7 12
FEHETE Y 9 9 6 15
FESHETE A 9 14 14 28
BT ERH 57 81 90 17
PR AT R 0 0 0 0
FRAT R 0 0 0 0
75T Fa iR 4R 17 15 14 29
AT/ A 0 0 0 0
iR iRy ! 16 23 24 47
75 SHET 7 S 4E 96 108 134 242
FESHET A L 13 20 15 35
75SHET B 46 58 67 125
FEHETIEPI P 19 33 28 61
AT A 3 2 3 5
PESHET R E 3 6 6 12
BEHETRPIF 30 37 50 87
AT /R 0 0 0 0
AT < 52 70 61 131
FEIHET E QG 18 25 20 45




16 /16 R—2

B % T 5 it

75T S AR AR 12 15 15 30
FEHETE— K 25 26 25 51
FHET R AL 14 23 21 44
PG HETHE B 6 8 8 16
FEHETIEY) 12 22 19 4
AT AR 0 0 0 0
FESHETALE 15 15 12 27
FESHET Y15 34 45 53 98
FESHET LR 13 16 24 40
AL 20 23 23 46
EHET IR 13 20 18 38
oA K E 0 0 0 0
EHETE T 0 0 0 0
FHETRE R L 30 48 52 100
FRATR 4 1T 69 100 95 195
FEHETE<C 3 4 3 17
FESHETRR 0 0 0 0
78T R K047 81 108 103 211
PG SHET R S 4E 68 106 82 188
R RS 61 94 86 180
o R EEAHR 1 1 1 2
FRATE #TH 36 45 44 89
FHSHET = i 0 0 0 0
FEHETE R 0 0 0 0
75 HETERHR 14 29 19 48
PR AT A L 0 0 0 0
AT SR 34 46 413 89
FEHETE L 2 2 3 5
FESAET AL 55 88 89 177
PG SHETPI E 13 18 18 36
FESHETFI A L 0 0 0 0
FESHETHIR 0 0 0 0
75 S ET LU 13 22 19 4
P RATREE 87 110 112 222
b AN 1 4 3 1

PEHET S5t 2,123 2,841 2,875 5,716

am St 30,403 38,874 39,615 | 18,489




